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7"01
Intro

Today we will 7”va learn 2”1 97 of D12t NoON
Some of the topics we will learn about include.

A continuation’s opinion regarding

a5 R ppa ro

PP RS a2

In a 3mIn 129p, the 70PN N2 involves two Ny, parts,
to burn the ymp of flour and the 71125 on the nam, and if a
Kohen had a 5o nawnn only during the ymp nyopn but
not during the 7125,

Whether

PR» 27 holds

Y5 P m o

Because he holds

RUgisRs (gl ]’5)9?3

A 5o mawnn takes effect even if he only has the thought
during part of the M2y - in our case the ymp or the nna>

OR because he holds

W RITANWRT NYT 5 IR 5o

We consider that he continued to do the second part with
the same nawnmn as the first part, and there was a nawnn»
50 in the whole 7712

The application of 90 to the case of

DN9’I1 DY MR

On Yom Kippur a »pw 70 were brought for a nxon 127p,
and in all they required forty-three mxin as follows

1.

D720 210

Sixteen MmNt in the owpn WP, eight for each Korban.
2

noMon Hy 1o

Sixteen mxi toward the no1o eight for each Korban.

3.

A N TP SV T

Then the o7 of the two Korbanos were mixed together,
and four min» were applied on the corners of the mam
2.

4.

170 Yy nyaw

And then there were seven mxi;1 on the top of the nam.

D97

DYV 'MN

Four Korbanos were able to be combined for the vyw 19,
one for each set of MR

And there is a Machlokes whether multiple Korbanos are
combined to complete even one set of MmN
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So, let's review ...

The Gemara in the previous Daf cited a R 37 npbmmn
o'»om in the case of

351 R Y Sro

POIPA R a3

In a amn j29p, the 77vPa has two P nn, two parts, to burn
the ymp of flour and to burn the 7125 on the nam, which
permit the remainder of the flour to be eaten by the
Kohanim.

And if a Kohen had a %19 nawnn only during the nyopn
ymip but not during the nna5, OR vice versa;

PR 27 holds

MY prm e

The na becomes %109, and one who eats from the nmn
gets o,

While the o»om hold

nD1IAPR

Pnnn YA MoWw TY

The 1min does not become 5139, and one who eats it does
not get n>, unless the Kohen had a »»o nawnn during the
whole 7112 of both the ymip and the nab.

And the Gemara offered two approaches to the
Machlokes:

1.
N1 27 holds

PNn A YO

A 5o mawmmn takes effect even if he only has the disquali-
fying thought during part of the 1"n», in our case, the ymp
or the nnas.

While the o°»on hold

P 3n2 PHION PR

A 5o nawnmn takes effect only if he has the disqualifying
thought during the whole 7n», both the ymp and the nnab.

DafHachaim.org

PN VEN 'pur/‘)/ﬁ/\/
nN292 X pmpa Ya1'o
PMIPa 8 NN2%2

In annp)23p, the mvpn has two pynn, two parts,
to burn the yoip of flour and to burn the n»ab on the nam,
which permit the remainder of the flour
to be eaten by the Kohanim.

If a Kohen had a 5x® nawnp only during the ymp mvpn
but not during the n:nb, or vice versa;
PN N R)
NI 12 PR 120D
93D TY PYY Parm

PNNN o2 N

The nnan does not become . Thennin becomes 5o,
One who eats it does not get m>, and one who eats
unless the Kohen had from thennap
a 5o pawny during the Ny gets nd.
of the ymp and the nnab.

\_/_\/—\_/

4
While the ppon hold
12391 PR
NN XN2
A 5o nawny takes effect
only if he has
the disqualifying thought

during the whole »np,
both the yoip and the nnab.

Either siw 1 holdy
12291
NN XN2
A 5o nawnp takes effect
even if he only has the
disqualifying thought during
part of the »np, in our case,
the yoip or the nnab.
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2.

OR perhaps even R 27 agrees that

PO A2 YN PR

However, the Mishnah is a case of where he had a nawnn»
519 during the first part, but he did not have a mawrn»
during the second part;

However, 7x» 17 holds

W RITAINVRT NYT 5 IR 5o

The second part is considered to have been done with the
same 72wnn as the first part and there was a %o nawnn
during the entire vnn.

While the o'»on hold that we don't say

VI RITANWRT NPT 5 IR 5o

Therefore,

i Y31 50w T

He must have an explicit %o nawn» during both parts of
the vnn.

The Gemara cites wpb w3 who goes with the second
approach that 1x» 27 agrees that
PO RN PHION PR

DafHachaim.org

Peréapy ever 1y ) agreey that
NN XN2 ]’bJDD PR

NIWNN2 YOIPN NN NIV 2D
NPPYI N2OM

The ppon hold that we don't

NWIYN 9O
NWKRI NYT HY
NI XN

552 baow TV
YHHN

He must have an explicit
529 nawny in both parts
of the »nm.

Howewver, win 1 holdy
nWIYN 95
NNVRI NYT HY
NWIY RN

The second part is
considered to have been
done with the same nawnn
as the first part and there
was a 5o nawnp during
the entire ynn.

s

who goes with the second approach
that ynn 127 agrees that

NN '8N2 1PHIDN PR
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However, the Gemara now questions that opinion and
seeks to support the first approach that x» 27 holds
PNn ¥R YO

And cites the following Braisa regarding

IO AN DY PININ DT

For all the nym»197 mxon in which all the mann are
mandatory, such as;

VOV VIR

D9 OY Hv

The forty-three minm that were done with the vyw) 70 07
on Yom Kippur; and as Rashi explains the 43 minn;
o727 12 5Y nonb Yaw MHYnk NN

PYWN DTN JTNIN DN DTN

[eRan]

In the w7 WP there where 16 MmNy,

Eight for each Korban;

n1MOn HY 1T

2”5

In the 2’11 there were another 16 mimn toward the nong;
Eight for each Korban;

ANV TARD DIV

122197 N2 MIP ‘717 VIIN

19770 Y MR VAW

pleRahi

After the vywn b7 197 D7 were mixed together, there were
another 11 min» on the inner Mizbeach - 4 on the four
corners, and 7 on the top of the Mizbeach. ®

DafHachaim.org

Py

L)

197190 NATHN Y 12NN DT
For all the prmm1®n MRDLD
in which all the mann are mandatory,
such as;

WHWI DY
D*NDON 01 HV
The forty-three manp that were done
with the ypw1 19 pT on Yom Kippur;

and as Rashis explaing the 43 _pyp;
D730 13 DY DL V3L DOV HNH
MVED D7 17001 DD DTN
1710 990
Inthe plop Gy there where 16 PPN

[L?/u‘ ﬂ&r each Korban;

375 999 — HOHDO DY 1700

Inthe b» - andther 16 W toward the: pono;

E’?ﬁf /w eachs Korban,

PINVY 7HHD DONEN
MDD N3N DI SV L3P
POV SV DB VI
Y9 0D
/}%fer the 1w/t p31 105 p3 were mixed ?‘0?@?%@4",
there were andther 11 DY o the inner W%M
4 on dfy%aw corners, and 7 on the fop o% the ujé%c/p
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Now, the Braisa continues:

wbwa PNV PAANVUNRIP 509

If the Kohen had a %19 nawnmn during either the first set of
sixteen M1 in the 0w7p WP, OR during the second set
of sixteen M1 in the 5>n toward the no1o, OR during
the third set of min» on the 27177 N2y, the same Machlokes
applies:

N1 17 holds

YO Pam Mo

While the o'non hold

DADIPR

Y1 R0w T

The Gemara asks

el AV PINIVNRIDPI 51O RTD unp

»5)

The Braisa implies that even if during the first set he had
no 7awnn, and only during the second or third set he had a
mawnn, the Korban does become 59 according to 17
PR, Apparently, 7R 17 holds

PN ¥R YO

The second set's 1awnmn alone causes H¥s;

DafHachaim.org

NNWRI2 P2 YD
MW PN
n"WHYW1 PN
Ifthe Kohen had a 2o nawnn
during either the first set of sixteen MmNt
intheowTp wnp,

OR during the second set of sixteen mNTH
in the 5>»n toward the nono,

OR during the third set of mann
on the anth N2,

PP N P
NI 12 PR 712D
22DV TY  PHY Parm

9NN 92 N7

RN NP
NNWRI2 P2 YD
N"W"HWAI P2 N7IWAI P2
275D
The Braisa implies that
even if during the first set he had no nawnp,

and only during the second or third set he had a nawnp,
the Korban does become 5o according to YR .

AWW%/, w1 holdy
NN 22N2 PHIDN

The second set’s nawnn alone causes 5»o;
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The Gemara gives three approaches in which perhaps '27
r» indeed holds

0P RMa YO PR

However,

I R ANWRI NPT HY wwn 5o

1.

1IN 72 pnx’ 17 says the Braisa is a case of

7O Twa Hrow Mo

He did all the miin of the first set with no nawnmn, and then
077 7ow), the blood spilled out. He then brought a second
animal and did the nv'nw of the second animal with a
5w nawnn, OR it was 077 70w and he did the 7onw of
the third animal with a o nawnn.

PR» 217 holds

N5 P m o

Because

R I TN

Since 7vnw has only one part, there was a 519 nawnn in
the whole .

While the o'»om hold

NI PR

Because as Rashi explains

mMYNYw WHw DY MWYIY K7 DAR ATAYT 11D

5305 Mawn 7NN PR

Since all three mv'nw are needed to accomplish the 7793,
they are considered like one 7712, and only a %o nawnn
during all the mv’nw causes Y130, but a 130 nawnn during
one no'nw does not cause Yo,

Dedicated By:
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v

The Gemara gives three approaches
in which perhaps yR» 121 indeed holds

NN N2 PLADN PR

NWIYN 9O
NOIY RN NNVRI NYT DY

&

PR IERY
NDMP2 Ddw Nad

He did all the mnth of the first set with no nawnn,
and then b7 ow.

He then brought a second animal
and did the nnw of the second animal with a 529 nawny,

PP WEN P
N0 12 PR 127m 71D
Becase N0 1YY
O HPH D737 WD Because
PNE E5EY ODES HEVXE B0 PN TH7
S0 PEN DVNED PO S has only one
Since all three nint are needed part, there wab & oy

to accomplish the 3o, oo i the whole
f/w?/ are considered like one >33y,

and 0/4[?/ @ /(«a % /m«% all
the, yind causes o,
but & o _paly /Mb’ﬂ?/ one 3000 doey nat cause fo.
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2.

N1 says the Braisa is a case of

ANWRIISPow 2=

w1 pnw

whwa Hrortm

He did the first set of mx1 with a 5o nawmmn, and during
the second set he was silent, and he then did the third set
of M, again, with a 5o nawnm,

PR» 27 holds

Y Pam Mo

Because

VIV RI7T INWRI NYTOY Iwwn 5

And even though during the third set he had a specific
nawnn and he did not go with the inwx1 ny7, we consider
that during the second set, when he was silent, he did go
with the nnwx Y7 of the first set.

While the onon hold

nIdIAPR

Because they don't hold

I NI ANWRI NYT Y wown 5

3.

YWR 17 says

WYY IV ANWRIL OOV 11Ad

He did all three sets of mxin with a %130 nawnn, but during
the mxim on the mam Sw 170 he was silent.

TRn 17 holds

MY prm e

Because

W NI ANWRI YT OV wwn 5

And even though during the nxii of the first three sets, he
had a specific nawnm and he did not go with the ny7
R, nevertheless we consider that during the last set,
when he was silent, he did go with the nnwra ny7 of the
first set.

While the onon hold

nDMAPR

Because we do not say

JWIY RITAOWURI DYT '7]1 ouIvn 55

Dedicated By:
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&)

NIWNII DOW pad
MW PO
»wbwa Sao yrm

He did the first set of mnth with a 5109 nawnp,
and during the second set he was silent,

PN VN D)
NI 12 PR 120D

Because 77D 1YY Parm
they don’t hold Becfu;le

nwvn 5o ~wn 5o

NJWNI NYT by NOWNI DYT by
NYID NI N NN

Even though during the third set
he had a specific nmawn» and
he did not go with the nawRy PYT,
we consider that during the second
set, when he was silent, he did go
with the nwN) nuT of the first set.

©,

b )
NNWNI2 baow pad
Mwbwa mawa

but during the mntn on the namn bw nnw he was silent.

PN VAN D)
N7312 PR 212°D
Because N30 1Y 1727

2.
we don't say Because

nwwn 5o Avvn 5o

DOT DD NOWNI NOT by
NN NWR) WD NI

1D And even though during the nNTh
of the first three sets, he had
a specific nawnp and he did not go
with the nawR) N7, nevertheless
we consider that during the last set,
when he was silent, he did go
with the nawm N7 of the first set.
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The Gemara now elaborates on the X¥»R mi1 that PR 729
holds

WHWR P PIVA P ANVRIL PO

n Y5 P m o

Because

PN ¥R YO

And asks

PYon 5 12920 TV 20D RS 179791

A Korban becomes %1»0 only if all the mmay were
completed properly with no other m>00 mawnn, and the
Korban would otherwise be Kosher, and it is only the %o
that causes it to be 9109,

Therefore, regarding the mxi1 of Yom Kippur, the
Korban becomes 9139 only if ALL the sets of mxin were
done with no other o os.

And if so, in the case of
191 IWRI P2 OYD

D191 72 WRT

5109

MT TR RDT IRDD

When he does the first set of mxi with a 5»o nawnmn, the
nxtn becomes disqualified. And then

592 0 37179

PR RPT R RDOYI RD

When he does the next set of mxi without a mawnm, this
nR1n is also disqualified, because

RO IV 730 RO O

N7 TIAY R RN

Since there was a D»o nawnn in the first set it is consid-
ered as if there was no rxi7, and the Mmoo mni of the
first set do not combine with the m~w> i of the
second set.

DafHachaim.org

N P
NNMWKRI2 P2 DD
NWYWI P21 NN1V1 P
N935 1YY P2»M Nd
Because

NN N1 phaon
P4

2D RS M TOD
"Ny 5o 2OPY T

A Korban becomes 59 only if all the mmap
were completed properly with no other mp® mawnn,
and the Korban would otherwise be Kosher,
and it is only the o that causes it to be hpo.

2l s0, inthe case g

121 NNWKRI2 P2 3D

NIDD DD N2 VWNT D
WT TR ROT JNDD

When he does the first set of mnth with a 5.9 nawnp,
the NNt becomes disqualified.

5>n2 T YTh D
TR RPT NIN RNV ND

When he does the next set of m~t» without a nawnp,
this nNth is also disqualified, because

NN NTIAD N RON bt
NN NTIAD @D RON O

Since there was a )2 pawny in the first set it is
considered as if there was no nNt,
and the mbpe MmNt of the first set do not combine
with the my»w> MmNt of the second set.

Zevachim42-8



Dedicated By:

Al i=Nghl)

As Rashi explains, there is no question if we say

AW NI ANVRT DT Y wvn 93

Or according to the o5n who hold

PN 501 N0 7Y

Because

9712 ROR 17712 5105 nnown RYT

51195 RIKAT MR 372"

W95 I RV IR | AR

Since the Pasuk taught that a %o nawmn during 7p>»
accomplishes 519, it must be a 213151 nta that if one has a
S0 nawnn during ALL the mxii the Korban becomes
50, because the 771 nT2Y was considered completed
properly with no other m>100 mawnn.

The question is only if R 27 holds

NN A YN

That even if the 19 nawn» was only during PART of the
mxin the Korban becomes 1»o;

Why do the mxin accomplish 510?

The second set of Mt are Pasul, because there was a
59 nawnn in the first set?

DafHachaim.org

A Rashis explaing,
there is no question if we say
OEW HID ONEHD HY7 SV DEWD 5
Or according to the pon who hold
PPN 553 SIE 7Y
Because
D3 HOH DPAI S1DS PHdEY HO7
5105 HINNI D DO3 OV
DINDS DI HOE DN It OPYIMN
Since the Pasuk taught that a )2 pawnn during np»r
accomplishes 529, it must be a 21050 NP1a
that if one has a 5o nawnn during ALL the mnth
the Korban becomes 5o,
because the np»1 nT2v was considered
completed properly with no other m5ps mawnn.

The question is only if ¥R» 121 holds
20N N3 1PN
That even if the 5109 nawnp
was only during PART of the mnt»
the Korban becomes 5x9;

Why do the mnth accomplish ho?
The second set of mnth are Pasul,
because there was a M9 nawny in the first set?
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The Gemara offers two explanations

1.

17 says

D719 YIRS NNOWD

DYW T

The 5o would be possible if he brought a separate 79
ywi for each set, such as after he completed each set of
MmN it was 077 79w and he brought another Korban.

In this case, if he had a %19 nawnn during an entire set, all
the mxt1 accomplish 9130 because

R17 03D 2391 7790

Since each Pyw1 79 is considered its own 771797 and not
dependent in the other, it's considered »ynn 5>1179p and a
mawnd in one YY1 79 does not cause a 9109 to the others.
However,

PR IIATIN TR 9]

529 N7

Ifhe had a 519 mawnm only during part of a set, the mxin
do not accomplish %1»9, because

70 M RDT

Since all the mxti1 in one set are dependent on each other,
it was not »ynn 93117p

2.

N17 says, the Braisa refers even to

TAR PYWI TINR 7191

And

fasRloRbibYap)

The 21n5n N applies even to a 5o nawnn during PART
of the mxin that the Korban becomes %139, and they are
considered completed properly with no other mawnn»
mhos.

DafHachaim.org

@

DAY
DS NDVIIN2 ﬂb NNoOWP
DYDY T2
The 59 would be possible
if he brought a separate Yo I for each set,
such as after he completed each set of MNTH

it was DTn 79w
and he brought another Korban.

In this case, if he had a M2 nawnn during an entire set,
all the mnth accomplish ho
because

NN 1OXD 1291 NSO

Since each w1 v is considered its own N2,
it's considered »ynn 52127 and a n2wny in one Y1 D
does not cause a 5o to the others.

However,

YN 12 DT TNN 192
539 R5HT

If he had a 29 nawnp only during part of a set,
the mnti do not accomplish 5o,

NPT ML) ROT

&)

AR
TNR YY) TNN 192
And
NN 1Mod

The 250 N1 applies even to a 51x® nawnn
during PART of the
that the Korban becomes 5o,

Zevachim42-10



